Math375 Test 2 October 17, 2019

Name: SO { U‘*’{ C\/(,é

Directions: Show all work. Answers without work generally do not earn points.

1. [6 parts, 2 points eachj Let A = {2,3,{2,3}}, B= {2,2,{3)},and C = 103,2),(2,3),{2,3}. {3,2}).

{a) Determine the sizes of sets A, B, and .

Al =73 . Bl=3 cl=2 (& G o Bl {2392 {s;-z%u)

(b} True or False {write the whole word): {3.2} € "'~ A
o :
Fasel {523 {233 A

(¢) True or False {write the whole word): (3,2) € C — A

E:J (32) # {233

(d) Determine AN B.

Ant-23]

(e} Determine AU B.

(o ——
A VB 3, 04,1333

(f) Determine P(B — A} S —

S BAE (g, 1333} Ple-A)- ¥ 2@% 1353% {o 335?3;

T R A

2. [2 parts, 2 points each] A sct A of iutegers is closed under addition if x + ¥ € A whenever
€ Aandye A

(a) Give two examples of an infinite set of i1’3t<.;gers that is closed under addition. _
A:— EZ}L; k€274,2) / e ﬁé—: 0? L&/ Luen wt\le.}aﬁj " M%m
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(b) Which finite sets of i mr( gers, if any, are closed under addition? Bgghain. f,sc{oh_\_
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3. [4 parts, 3 points each] Let 4, B, and C be sets. Express the following sets as concisely
as possible using standard set operations. For example, “The set of all elements that are in
Aor B”is AUB.

(a) The set of all elements that are in B but not A,

F
se o i
iigg

{b) The set of all ordered pairs of clements in (.

S—

(¢} The set of all elements that belong to exactly one of A and C.

1

|

e e

{d) The set of all sets X such that X CAUB, XNAZ@, and XN B +# &,
’T"’_HA“—"'— b

P(AB) - P(4-8) -PEA)| o [0ae)- (PLa-D) v P G-1)
ho8)- (Pla-s |

s

4. [2 parts, 3 points each] Let A be a set of size n.
(a) Determine the size of P(A4 x A).

s A x4 nen

PlAxaY) = 277 =277 o

(b) Determine the size of P{A) x P(A).

; : . AV LA ~ 2 A
P <Pl P 1P| - 272" = T 2]
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5. [6 points] Are there any sets whose size is larger than the set of real numbers R? If ves,
then give an example. If no, then explain why not.

! Y& ’ @ s /a.,f cel.

6. {5 points] Identify a significant consequence of Cantor’s arpument that the real numbers are
o o
uncountable in the field of computer science,

 Sie e I progroms s conlable bt T s J) o
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7. [6 points] Let A aud B be countable sets. Argue that 4 x BB is countable.
' . . 2 .
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8. [8 parts, 4 points each] A class contains 8 men and 10 women. A group of 6 students is

chosen at random.

(a) What is the probability that all students in the chosen group are men?

= (W’:ﬁw = C.0| 13|
T ys
. ¥
(c) What is the probability that the chosen group has at least one nian and at least one

woman?

Pl 2w o) 21 o) = | = Pl o) ()

9. {4 points] Two different cards are drawn at random from a deck of 12 cards, cach labeled
with an integer in {1,..., 12}, What is the probability that the difference between the values

on the chosen cards is at most 37
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10. Suppose that a pair of dice are rolled. Let A be the event that the two rolled values are the
same, let B be the event that the sum is in {6, 7,8}, and let (' be the event that both values
rolled are at least 4.

(a) [3 points] Give the sample space 2.

'
L= 4y, a5 %f%bg

(b} [6 points] Find Pr(4), Pr(B), and Pr(C).

DK(\A‘\ - Ti% - %@Z ;E
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(¢) [6 points] Find Pr{A N B), Pr{BNC), and Pr(C 1 A).
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i
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(d) [3 points] For each of the pairs of events {A, B}, {B,C}, and {C, A}, determine whether
the pair is independent, positively correlated, or negatively correlated.

ho®) = < L RO, 6 0B e ol ik
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m A spinner has three equal regions, labeled 1,
) 2, and 3. Each spin is equally likely to stop
a in each of the three regions.

(a) [6 points] A contestant executes 3 spins. What is the probability that H(_c}_(_}i region is
the result of one spin? a7
SL st s em A o T
/ Tas TS T
BT
A= 321 =6 '

(b) [6 points] A contestant executes n spins. what is the probability that each region is the

result of at least one spin? (Note: your answer should be a formula involving n which
agrees with part (a) when n = 3.)
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(¢) [4 points] A contestant executes n spins. What is the probability that the spins appear
in order, with all region 1 spins happening before all region 2 spins, and all region 2
spins happening before all region 3 spins?
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